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      Music for String Instruments
   Sikelianou Tania     

Violin I

Violin II

Viola

Violoncello

Contrabass







(T.I) e=120

(45) 

( q=60)

  

 (45)    

 (45)    
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Vln I

Vln II

Vla

Vc.

Cb. 









   


   

 

begin very softly

(mezzo staccato)
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Vln I

Vln II

Vla

Vc.

Cb. 






  




begin very softly

(mezzo staccato)

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 
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


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
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
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
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


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

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
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
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
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

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






















































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
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



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

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
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 
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

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 



 

3




 
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 



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



   



  


    



    

3
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 
  


  



     


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Vln I

Vln II

Vla

Vc.

Cb. 







pp
simile





 










 



















simile


















 


 



 
   




  



 



 


 



 




   




  








pp


 














 

3









 






 





  



 



 mf










3






  






 







3








 

pp
 


   

3

  
 






 





simile

pp

3

simile

   

 


 


  

3
    




   


3



 


 


  

3

    


mf

   


3




 









 




 









3

























simile



pp









 



























 



 























































 

















 


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   
 


  


  
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
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
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
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
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
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
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
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
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
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

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
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
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
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
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
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
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
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
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